EARAROBEEIERT — 2 N— IBISH —F

2017513 (K) 19B1AE2H

m*ﬂ%ﬁiﬁ Y7R 3% ‘ (X4l W ‘ (Eiml — | 4 (B 17500 &
[AE4£] 1% :350,000” ~ 23#%&:81,000”  33%&:32,000M”  43%&:18,000 ™ .~ 57 :11,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ EEBER 58, -2~ Al - BETE (EH)
i lgl10] 2757~ 3 =% 1(5_8)5 2-2-2-1 | 40.1 1 (i?g) %E;Z =1
40 B/ —-757— Eibitse]
¢= =5 o 5 RHEEC :59. =il=i= . = hEFE (1£8)
2 6| NATATLEZb 4 g 54.0 (12519/20) 11718 ] 40.7 4 (‘:3; I .
L:T772UIT7 B:HILN)—H- EH OB
NN BERD : -3-3- - hEFE ((£%5)
3l5|5 45w 3 Be 1.(58.2 3-3-3-2 | 40.7 2 ;1_822) Bl ®
R:7v3iI7—L BA414F7ay TR O
Son = H il : 56— — KIEEX (EE)
4 4| TAV>TI9y H 3 g 1(.15/92.)3 5-5-6-6 | 39.3 8 (itsg) HEIEI%/\
:707% BiXLT4ANIL KA
LA jt 3 | WK 1:59.4 7-7-5-5 [ 39.6| — 3 420 |MHRZ (ER)
5 2 XILad— 54.0 (3/4) +1) WP EX
R:N—pNK B:eOas¥Isrh N
6178 &1 T7IAFIINX # 3 g%i%ﬁ;sz 1(75?:;5 4-4-4-4 |40.7| — | 9 | 407 %ﬂigg (1£%)
R:T7 RRA Y L= B:da—NCUIL2 (=2) N> T 45
N [iim}2 : 67— — REM (&H)
slglg| 17T/ r—=% i 3 ao 1.(52%.9 8-6-7-7 |39.8 5 (4;5) ﬁ;;; i
84 LINT Ry T BixadoFv ML [IESE e
s 4 3 | Al 2:00.5 9-8-9-8 |40.0| — 7 461 | BARBE (£E)
8 3|l E—E=2vIL7T 56.0 ®) (5) | (B J P N
R:THINRry b B ISTSFF AHE 2
N . =320 :00. —9-8- . — SHEAE (&8
ol7|7|¥>d—nrza— R R T AR O e [#aE
LN—VFIIya B:ardov R+ I=3 AN
= . WaLLFn 11 -10-10- X = FlEE (1£H)
10011171 —A7=~X2+ i 3 1) (2571{1% 10-10-10-10| 47.7 6 (4_1; 5@#;511 "
R:Fh¥<7128 B:X2/4NF T2 RS
® 1—F—@EBIERL
1T=7r= 6,10,5,8,4,7,2,9,3,1
2a=5F= 6,10,5,8,4,9,2,3,7,1
Ja=5= 6,10,5,8,2,4,9,7,3,1
43—+ — 10,5,6,8,2,4,9,3,7,1
[ /N
B 10 1204 714K 6-10 180M e E 6-8 430 JEE 5-6-10 800F4
B B 10 1004 5-10 150H B = 6-10 460M JEE 10-6-5 1,740H
6 140 5-6 620M B H 10-6 490M
5 1209

ABICOVWTRDTEEERROODE. TR LIV,




